[image: image1.jpg]i1 Ah RERTH Y o, ko HEMS AR Y o BUEH .
B 0 I R S0
(3P MR L ORI K E
T 5 AN T 88 S WS R A B0 S 4B — 34
RN E Wt BT F R PR RN b o
HANBE T B 20 K oD 0 B 28 A i K
N R B 51 8 50 Ak B L K o 0 e B A
AR 13 09 %) 4T

28.(74p)
[BEES=ETET & (m +mg)g=(mx10
+oVIg) asm
WK RN R PIOER S £=0.03G=0.03(m X 10"+
PR
WAL EITREE )y V-85 Fo = /=0.03(m X 10" +
DR a4

(DB A AR B S KRR B Ak
P 09K R L k. BARMIR

p—W _FL_1000pSL _ V. _pVe 2
p= W EL_ 100005k 1000, Ve % (i) 290

36

(DER 1S AIRA2 5 353 5,

v
(mx10+pv)y .
120 ¥
Bm
L

o
B 20,4

AAERX 2012 FHPELES
AR BRI E(Z)

1L.C 2D 3B 4.A 5D 6A 7.B 8C 9.B
10.C
11.BCD 12, ACD
15.0.5(24) 2012.5(2 41

16.3X10°(2 41 K@ 4

17,0250 B2 5

18.E@ ) AFIB@)

10 RF @5 fUgH2 4

20 MK KBROUE RETERG G2 12

21,2240

15.AC 14, BC

524
52(2 40

22.449)
COPERE Vo 8 7802 50) CRUA b it B il 0 R 4
m
(DREE 125

. (1DQ=cmlt—1.) as
=4.2X10" X 1X (100=20) as
=3.36%10°()) as)
(DW=P + r=1000X6X60=3,6X10°()) (14
@41
24
(D214 1840140 2001 4 0,92() 5)
@BRA
25.(64))
WOR =5 =2 21000 @
100CW) @
+ P, =40+ 1100=1140(W) g
W=P, t=1140X1X60=68400(J) as)
26. (4 4
W FHIC 5
@ MBI IR X MR 80 1 B
KRGO 5
(B1,1,7(2,5.8 53.6,9 1 4
MR SO 5
27.(7 41

(DARE. (15 EAWEH LA AK. % R=0Q M R
= 1000 B W o 26 W K 84 B 7R RO /D T 40 1IN Tk
AR STIR R (5D

(DU WP 7))

@ A A BRI B AR 41>

b A K S, S MR 1015




[image: image3.jpg]zhongkao®zm




[image: image3.jpg]                                                                               天津中考信息资源门户网站  tj.zhongkao.com

[image: image4.jpg]


[image: image2.jpg]I

o WEFFFF X S, . H ML FR 2200 7% 3 7 L 28 04 36 00 o0 R
HU. A4

IR

@R.= TL[ R= - —RR G EM R

BMOTO G GU M EM B4

28.(7 41)

asm

am

. o
i i
QL% R E# G5
BHEX 2012 FRhELE
FURBEE(Z)
LB 2D 3B 4.C 5C 6.C 7.D 8A 9.A
10.8
11.BD 12.CD 13.BD 14.ABC
15. 8% Mt
16. % C

1T AfTEEE #TWETR.Z.T)

18.

23,

24.

26

. KT FF
10W  21000)
. HAREHK
LR
. (541
(DB AT KPR 20 C . 2min Gk KR
i 30°C 0 fm A 2min K 69 i 1 7F 25 69 i E R

PN

Ar=1—1,=30-20=10(C) asm
(2) 48 2min K T 4 B9 24 4t

Qu=emAt=4.2X10' X2X10=8,4X10°J) (24D
(3) AR 2min i #ok 38 18 FE O AE L

W= Pr=1000X2X60=1.2X10°(J) asm
MUK BRI ROR R 7= Qe /W =8.4X10']/1.2X10'] =
0% as
a5

CDOHBEEHEC2 50), BOR KM FREXAGI R
TN LTI DL M B L R Y
ELR R

TR 4D 5501 5

(3)/MET AL T (L 53

=UI %)

D250 403
G
(Dol 40)
(OBEA S BRFRMEAE. b RREE. B
W24

@7% 4D

CO B BURACR — 82 s BT B U 7 0 BE Y A
CREH R~ HE#A4) (4

L (640
me 2k Y
"V =2 AR 10 kg/m 10 *m @
1m? asp
_ 20kgx 1(1A’kg;:“ju01:5x 10N/ke_ 700p, @
7.2 10°Pa<<7 X 10' Pa M %2 425 i asm

. (541




天津中考网 tj.zhongkao.com 版权所有 谢绝转载  

